

September 23, 2024

Mr. Jon McCraw City Manager City of Diamondhead 5000 Diamondhead Circle Diamondhead, MS 39525

Re:

Pay Application #6

Kaleki Way Drainage Project

LJ Construction, Inc.

Dear Mr. McCraw:

Enclosed, please find Pay Application #6 to be considered for approval by the City Council at the next meeting. The Application includes the period from 9/1/2024 to 9/30/2024. At the end of the application period, we are approximately 84% complete on contract value and 78% on contract time.

I have reviewed this pay application and find that it is an accurate request according to the amount of work that has been completed since the project began. With that said, I recommend that the Council approve payment to LJ Construction, Inc., in the amount of \$20,307.83. Please do not hesitate to contact me should you have any questions.

Sincerely,

COVINGTON CIVIL & ENVIRONMENTAL, LLC

Sarah McLellan, P.E. Project Engineer

Fax: (228) 396-0487

Enclosures: LJ Pay Application #6 Signed

Phone: (228) 396-0486

tractor's App							
Owner:	City of	Diamondhead			Project No.:	-	16175 WA 3
ngineer:	Covington Civil & Environmental LLC				's Project No.:	_	101/3 WA 3
Contractor:	⊔ Cons	truction Inc.	Contract	or's Project No.:	_		
Project:	Kaleki \	Nay Drainage Proje	ect				
Contract:							
Application N	lo.:	6	A	pplication Date:			
Application P		From	9/1/2024	to	9/30/2024		
						\$	719,320.31
		tract Price				\$ \$	107,103.25
		by Change Orders	Line 21			Ś	826,423.56
		tract Price (Line 1 +		lata		<u> </u>	
4. To	ital Work	completed and mat	terials stored to t	Idle		\$	692,613.13
		umn G Lump Sum T	otal and Column	J Unit Price Total)			
5. Re	etainage			d. Completed		\$	17,315.33
	a. 0.02	x \$ x \$	692,613.13 Wo	rk Completed		\$	
	b	x <u>\$</u>	- Stor	red Materials		¢	17,315.33
		Retainage (Line 5.a				4	675,297.80
6. Ar	mount elig	gible to date (Line 4	- Line 5.c)				654,989.97
		. /11 - /				٦	
		us payments (Line 6	from prior appli	ication)		¢	20.307.83
8. Ai 9. Ba	mount du	e this application finish, including ret tification	ainage (Line 3 - L	owledge the following	:	\$ \$ \$ \$ \$	20,307.83 133,810.43
8. Ar 9. Ba Contrac The und (1) All p to disch (2) Title Paymer	ctor's Cerdersigned Corevious products of to all Wornt, will pass	e this application finish, including ret tification contractor certifies, to ogress payments receractor's legitimate ob k, materials and equitions to Owner at time of the contractor to Owner at time of the contractor of the cont	o the best of its knewed from Owner ligations incurred incorporate payment free and prindemnifying Owner indemnifying Owner index ind		work covered by perwise listed in or control ity interests, and elems, security intere	act have rior Appli overed by ncumbrar st, or enc	been applied on accordations for Payment; this Application for neces (except such as a numbrances); and
8. An 9. Ba Contractor:	ctor's Cerdersigned Corevious produce to all Work at by a bond he Work co	e this application finish, including ret tification Contractor certifies, to ogress payments receivactor's legitimate ob k, materials and equipments to Owner at time of diacceptable to Owner overed by this Applications.	o the best of its knewed from Owner ligations incurred incorporate payment free and prindemnifying Owner indemnifying Owner index ind	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur	work covered by perwise listed in or city interests, and elens, security intere he Contract Docum	act have rior Appli overed by ncumbran st, or enc ents and	been applied on accountations for Payment; of this Application for acces (except such as an aumbrances); and
8. Ar 9. Ba Contract The und (1) All p to disch (2) Title Paymer covered (3) All t	ctor's Cerdersigned Corevious produce to all Work at by a bond he Work co	e this application finish, including ret tification contractor certifies, to ogress payments receivactor's legitimate ob k, materials and equipments to Owner at time of acceptable to Owner overed by this Applications.	o the best of its knewed from Owner ligations incurred incorporate payment free and prindemnifying Owner indemnifying Owner index ind	owledge, the following on account of Work do in connection with the ed in said Work, or oth I clear of all liens, secur oner against any such li is in accordance with t	Work covered by perwise listed in or city interests, and elens, security interested the Contract Docum	act have rior Appli overed by ncumbran st, or enc ents and	133,810.43 been applied on accordations for Payment; this Application for acces (except such as a umbrances); and is not defective.
8. An 9. Ba Contractor:	ctor's Cerdersigned Corevious products to all Work of the Work of	e this application finish, including ret tification contractor certifies, to ogress payments receractor's legitimate ob k, materials and equits to Owner at time of acceptable to Owner overed by this Application inc	o the best of its knewed from Owner ligations incurred in payment free and er indemnifying Owation for Payment	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur mer against any such lis in accordance with t	Work covered by perwise listed in or city interests, and elens, security interested the Contract Docum	act have rior Appli overed by ncumbran st, or enc ents and	133,810.43 been applied on accordations for Payment; this Application for acces (except such as a umbrances); and is not defective.
8. An 9. Ba Contractor: (1) All p to disch (2) Title Paymer covered (3) All to Contractor: Signature:	ctor's Cerdersigned Correvious protection and Work control of the	tification contractor certifies, to ogress payments receivant of the contractor's legitimate obtained acceptable to Owner at time of acceptable to Owner overed by this Applications of the contractor's legitimate of t	o the best of its knewed from Owner ligations incurred in payment incorporate payment free and artindemnifying Owation for Payment	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur oner against any such lis in accordance with the Approved by:	Work covered by perwise listed in or city interests, and elens, security interested the Contract Docum	act have rior Appli overed by ncumbran st, or enc ents and	133,810.43 been applied on accordations for Payment; this Application for acces (except such as a umbrances); and is not defective.
8. An 9. Ba Contractor: Signature:	ctor's Cerdersigned Corevious products all Work and by a bond he Work co	tification contractor certifies, to organize spayments received actor's legitimate obtained acceptable to Owner at time of acceptable to Owner overed by this Applications.	o the best of its knewed from Owner ligations incurred in payment incorporate payment free and artindemnifying Owation for Payment	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur yner against any such li is in accordance with the Approved by: Title:	Work covered by perwise listed in or city interests, and elens, security interested the Contract Docum	act have rior Appliovered by neumbrar st, or ence ents and	133,810.43 been applied on according cations for Payment; this Application for aces (except such as a umbrances); and is not defective.
8. An 9. Ba Contract The und (1) All p to disch (2) Title Paymer covered (3) All t Contractor: Signature: Recommendation:	ctor's Cerdersigned Corevious products all Work and by a bond he Work co	tification contractor certifies, to ogress payments receivant of the contractor's legitimate obtained acceptable to Owner at time of acceptable to Owner overed by this Applications of the contractor's legitimate of t	o the best of its knewed from Owner ligations incurred in payment incorporate payment free and artindemnifying Owation for Payment	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur oner against any such lis in accordance with the Approved by:	Work covered by perwise listed in or city interests, and eigens, security interested the Contract Docum	act have rior Appliovered by neumbrar st, or ence ents and	133,810.43 been applied on accordations for Payment; this Application for acces (except such as a umbrances); and is not defective.
8. An 9. Ba Contract The und (1) All p to disch (2) Title Paymer covered (3) All t Contractor: Signature: Recommendate By: Title: Date:	ded by En Project 9/23/	tification contractor certifies, to organize payments received by this Application of acceptable to Owner at time of accept	o the best of its knewed from Owner ligations incurred in payment incorporate payment free and artindemnifying Owation for Payment	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur yner against any such li is in accordance with the Approved by: Title:	Work covered by perwise listed in or city interests, and eigens, security interested the Contract Docum	act have rior Appliovered by neumbrar st, or ence ents and	133,810.43 been applied on accordations for Payment; this Application for acces (except such as a umbrances); and is not defective.
8. An 9. Ba Contract The und (1) All p to disch (2) Title Paymer covered (3) All t Contractor: Signature: Recommend By: Title:	ded by En Project 9/23/	tification contractor certifies, to organize payments received by this Application of acceptable to Owner at time of accept	o the best of its knewed from Owner ligations incurred in payment incorporate payment free and artindemnifying Owation for Payment	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur mer against any such lis in accordance with the ed by: Approved by: Title: Date:	Work covered by perwise listed in or city interests, and eigens, security interested the Contract Docum	act have rior Appliovered by neumbrar st, or ence ents and	133,810.43 been applied on accordations for Payment; this Application for acces (except such as a umbrances); and is not defective.
8. An 9. Ba Contract The und (1) All p to disch (2) Title Paymer covered (3) All t Contractor: Signature: Recommendate By: Title: Date:	ded by En Project 9/23/	tification contractor certifies, to organize payments received by this Application of acceptable to Owner at time of accept	o the best of its knewed from Owner ligations incurred in payment incorporate payment free and artindemnifying Owation for Payment	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur oner against any such lis in accordance with the ed by: Approved by: Title: Date:	Work covered by perwise listed in or city interests, and eigens, security interested the Contract Docum	act have rior Appliovered by neumbrar st, or ence ents and	133,810.43 been applied on accordations for Payment; this Application for acces (except such as a umbrances); and is not defective.
8. An 9. Ba Contract The und (1) All p to disch (2) Title Paymer covered (3) All t Contractor: Signature: Recommend By: Title: Date:	ded by En Project 9/23/	tification contractor certifies, to organize payments received by this Application of acceptable to Owner at time of accept	o the best of its knewed from Owner ligations incurred in payment incorporate payment free and artindemnifying Owation for Payment	owledge, the following on account of Work do in connection with the ed in said Work, or oth clear of all liens, secur mer against any such lis in accordance with the ed by: Approved by: Title: Date:	Work covered by perwise listed in or city interests, and eigens, security interested the Contract Docum	act have rior Appliovered by neumbrar st, or ence ents and	133,810.43 been applied on according cations for Payment; this Application for aces (except such as a sumbrances); and is not defective.

Progress Estimate - Unit Price W

Owner: Engineer: Contractor: City of Diamondhead
Covington Civil & Environmental LLC

Li Construction Inc.
Kaleki Way Drainage Project

Project:

Contract:

Contractor's Application for Payment

Owner's Project No.: Engineer's Project No.: Contractor's Project No.:

16175 WA 3

pplication	No.: 6 Application Period:	From	09/01/24	to	09/30/24						Applica	tion Date:	09/23/24
	B	C	D	E	F	G	н	1	1	K	L	M	N
A			Contract	Information		Work Completed	Current Pay App	Work Comp	oleted to Date		And the last		
lid item	Description	Item Quantity	Units	Unit Price (\$)	Value of Bid Item (C X E) (\$)	Estimated Quantity Incorporated in the Work - Current Pay App	Value of Work Completed - Current Pay App (E X G) (\$)	Estimated Quantity Incorporated in the Work	Value of Work Completed to Date (E X I) (\$)	Materials Currently Stored (not in G) (\$)	Work Completed and Materials Stored to Date (J + K) (\$)	% of Value of Item (L / F) (%)	Balance to Finish (- L) (\$)
The state of						nal Contract		1.00	46,969.77		46,969.77	100%	
01505-1	Mobilization	1	LS	\$ 46,969.77	46,969.77						3,347.52	65%	1,772.48
02050-1	Removal of Asphalt Pavement, All Depths	640	SY	\$ 8.00	5,120.00			418.44	3,347.52				1,186.68
02050-1	Removal of Concrete Driveway, All Depths	670	SY	\$ 8.50	5,695.00		-	530.39	4,508.32		4,508.32	79% 56%	2,170.00
	Sawcut Asphalt, All Depths	700	LF	\$ 7.00	4,900.00			390.00			5,240.00	84%	992.00
02050-4	Sawcut Concrete, All Depths	779	LF	\$ 8.00	5,232.00			655.00	5,240.00		5,240.00	0%	9,600.00
02050-5	Removal of Concrete Drainage Structures	16	EA	\$ 600.00	9,600.00			124.00	4,240.00		4,240.00	42%	5,740.00
02050-6	Removal of Pipe, All Sizes	998	LF	\$ 10.00	9,980.00			424.00	4,240.00		7,240.00	0%	250.00
02050-7	Remove and Relocate Existing Sign		EA	\$ 250.00	250,00		-						
=>0=>0		48	LF	\$ 10.00	480.00			20.00	200.00		200.00	42%	280.00
	Removal of Wood Fencing	60	CY	5 15.00	900.00							0%	900.00
	Removal of Miscellaneous Material, LVM	30		\$ 350.00	-			4.00			1,400.00	13%	9,100.00
	Flowable Fill	1	LS	\$ 6,500.00	6,500.00			1.00			6,500.00	100%	
	Clearing and Grubbing Excess Excavation, LVM	600	CY	\$ 10.00	6,000.00	-		468.00			4,680.00	78%	1,320,00
	Borrow Excavation, LVM	1,250	CY	\$ 15.00	18,750.00			513.00	7,695.00		7,695.00	41%	11,055.00
02226-2	leke Drive Roadside Ditch Excavation	280	LF	\$ 8.00	2,240.00							0%	2,240.00
02226-3	Kaleki Way Roadside Ditch Excavation	440	LF	\$ 8.00	3,520.00			350.00			2,800.00	80%	720.00
02226-4	Amoka Drive Roadside Ditch Excavation	460	LF	\$ 8.00	3,680.00			150.00			1,200.00	33%	2,480.00
02226-5	North South Ditch Excevation	500	CY	\$ 10.00	5,000.00			500.00			5,000.00	100%	E 050 0/
02234-1	Size 610 Crushed Stone Base	145	CY	\$ 100.00	14,500.00			86.41	The second name of the second na		8,641.00 6.840.00	60% 86%	5,859.00 1,160.00
02295-1	Silt Fence	2,000	LF	\$ 4.00	8,000.00			1,710.00	6,840.00		6,840.00		
02295-2	Wattles	370	LF	\$ 4.00	1,480.00						-	0%	1,480.00
02512-1	1.5" 9.50-mm, MT, Asphalt Pavement		SY	\$ 24.00		•						0%	
02512-2	1.5" 12.50-mm, MT, Asphalt Pavement		SY	\$ 24.00					-			0%	
		331	SY	\$ 206.25	68,268.7			247.24	50,993.25		50,993.25	75%	17,275.5
02522-1	4" Concrete Driveway with Headwall		-		800.00							0%	800.00
02580-1	Traffic Markings	100	LF	\$ 8.00				-		-		0%	3,600.00
	Traffic Signage	8	EA	\$ 450,00			-		*******		118,173,00	98%	
02721-1	Reinforced Cast-in-Place Concrete Structures	73	CY	\$ 1,650.00				71.62			10,775.96	98%	
02721-2		5,200		\$ 2.12)		5,083.00	10,775.90		10,775.30	0%	
02722-1			LF	\$ 48.05			-	72.00	4,027.68		4,027.68	90%	447.5
	18" Reinforced Concrete Pipe, Class III	80		\$ 55.94			- :	40.00			3.040.00	125%	
02722-3	24" Reinforced Concrete Pipe, Class III	32		\$ 76.00							16,368.64	100%	
02722-4	36" Reinforced Concrete Pipe, Class III	128		\$ 127.88			-	46.00	THE RESERVE AND ADDRESS OF THE PARTY OF THE		6,900.00	59%	
02722-5	42" Reinforced Concrete Pipe, Class III	78		\$ 150.00			-				18,328.18	100%	-
02722-6	36" x 23" Reinforced Concrete Arch Pipe, Class III	157		\$ 116.74			-	406.00			58,699.48	100%	
02722-7	44" x 27" Reinforced Concrete Arch Pipe, Class III	406		\$ 144.51							44,607.16	89%	5,524.7
02722-8	51" x 31" Reinforced Concrete Arch Pipe, Class III	245		\$ 204.60								096	
02722-9	36" Reinforced Concrete Flered End Section	-	EA EA	\$ 3,212.00								0%	
02722-10		766		\$ 53.60				766.00	41,118.88	3	41,118.88		
02723-1		460		\$ 100.0				407.45	40,745.00		40,745.00		
02752-1	and the contract of the contra	3,700		\$ 1.05			3,150.00				3,150.00		
02931-1		4,840	+	5 8.00			-	2,200.00	17,600.00)	17,600.00		The second secon
02931-2		4,840		5 10,000.00	The second secon			1.00	10,000.00		10,000.00		
02935-1	Maintenance of Traffic	61		. 5 31.2				20.00	624.00		624.00	29%	1,497.6

Progress Estimate - Unit Price Work Owner's Project No.: 16175 WA 3 City of Diamondhead Engineer's Project No.: Covington Civil & Environmental LLC Contractor's Project No.: Engineer: LI Construction Inc. Contractor: Kaleki Way Drainage Project Project: Contract: **Application Date:** 09/23/24 09/30/24 Application Period: 09/01/24 From Application No.: **Work Completed to Date** Work Completed - Current Pay App Contract Information **Work Completed** % of and Materials Value of Value of Work Estimated Quantity Value of Work Estimated Stored to Date Item Balance to Finish (F Completed to Date | Materials Currently Quantity Value of Bid Item Incorporated in the Completed --1) Stored (not in G) (J + K) (L/F) Incorporated in (E X 1) Work - Current Pay Current Pay App (E Unit Price (CXE) (%) (\$) (5) (5) (\$) **Bid Item** X G) (5) the Work (\$) Item Quantity Units Description 14.057.78 82% 3,039.52 14.057.78 37.00 No. 17,097.30 LF 379.94 45 1,800.40 100% 07301-1 16" Split Steel Casing 20.00 1,800.40 1,800.40 90.02 20 LF 1,220.12 443.68 27% 15015-1 8" Ductile Iron Pipe for Sewer Line 443.68 16.00 27.73 1,663.80 60 LF. (4,000.00) 15020-1 6" PVC Pipe for Water Service 7,000.00 233% 7,000.00 7.00 3,000.00 1,000.00 EA 0% Connection of Pipe to Existing Structure M1 1,500.00 EA 0% M2 Patch Existing Drainage Structure 6,500.00 LS (525.00) 1,400.00 160% Brick Headwall Structure МЗ 56.00 1,400.00 875.00 25.00 5,634.97 35 SY 80% 22,539.88 22,539.88 M4 Driveway Coating 4.00 28,174.85 5,634.97 EA 19% 3,900.00 Water Main Relocation 900.00 900.00 3.00 M5 4,800.00 EA 300.00 16 Remove and Reinstall Mailboxes M6 130.547.17 605,284.58 59% \$ 605,284.58 \$ Original Contract Totals \$ 3,150.00 \$ 735,831.75

Contractor's Application for Payment

	De les victores de la companya de la										Contractor's Ap	plication	for Payment
Progress I Owner: Engineer: Contractor: Project: Contract:	Estimate - Unit Price Work City of Diamondhead Covington Civil & Environmental LLC LI Construction Inc. Kaleki Way Drainage Project										Owner's Project No. Engineer's Project N Contractor's Project	o.:	16175 WA 3
	No.: 6 Application Perio	od: From	09/01/24	to	09/30/24						Applica	tion Date:	
Application	No.:		D	E	F	G	н		1	K	- 1	M	N
A	8	-		t Information		Work Completed	- Current Pay App	Work Com	pleted to Date				
Bid Item				Unit Price	Value of Bid Item (C X E)	Estimated Quantity Incorporated in the Work - Current Pay	Completed -	Estimated Quantity Incorporated in the Work	Value of Work Completed to Date (E X I) (S)	Materials Currently Stored (not in G) (S)	Work Completed and Materials Stored to Date (J + K) (S)	% of Value of Item (L / F) (%)	Balance to Finish (F - L) (\$)
No.	Description	Item Quantity	Units	(\$)	(\$)	App nge Orders	V (2)	the work	101	141	-	4	
				14 25.00	1,656.00	nge Orders		37.00	1,361.60		1,361.60	82%	294.40
	16" Split Steel Casing	45		\$ 36.80	1,636.00			314.00	1,256.00		1,256.00	79%	344.00
	Spreading Provided Fill, LVM	400	CY	\$ 4.00	630.00			126,00	882.00		882.00	140%	(252.00)
CO1-3	Hauling and Spreading Provided Fill, LVM	90		S 139.15	39,400.32	-	-	315.98	43,968.62		43,968.62	112%	(4,568.30)
CO1-4	4" Concrete Driveway	283.15		5 2.866.83	8,600.49	-	-	1.00	2,866.83		2,866.83	33%	
CO1-5	Sewer Service Adjustment	3	EA	\$ 25.55	2,044.00		-	60.00	1,533.00		1,533.00	75%	511.00
	Dowels	80		\$ 120.05	12.005.00			90.00	10,804.50		10,804.50	90%	1,200.50
	36" High Density Polyethylene Pipe	100		\$ 67.00	24,656.00		s -	368	\$ 24,656.00		24656	100.00%	0
CO1-8	24" High Density Polyethylene Pipe	368	LF	5 67.00	24,030.00	-	-						
			C	hange Order Totals	\$ 90,591.81		\$ -		\$ 87,328.55	\$ -	\$ 87,328.55	89%	\$ 3,263.26
					Original Contr	act and Change Orde	rs		DOI STATE	- Vermina			
				Project Totals			\$ 3,150.00		\$ 692,613.13	\$ -	\$ 692,613.13	74%	\$ 133,810.43